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This question paper contains 32 pages]
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: Three Hours Maximum Marks : 200

LigReecs quife @ 200
IMPORTANT NOTES - B

The question paper has been divided infb'thre.é-'p'a.rts.——l’_ar{ A,Band C. The number of

questions to be attempted and their marks are"’._-i':rid'icated in each part.

W " SRR A o A R ¥ e f @ R A v
Wl oK T oiw vE o e PRI

Attempt answers either in Hindi or English, not in bo__th.

IR AT a7 et o # A et ek W i) 260

-Answers to all the questions of each part shoui_ld_ be written continuously in the script

and should not be mixed with those of other parts. In the event of candidate writing
answers to a question in a-part different to the one to which the question belongs, the
question shall not be assessed by the examiner.
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The candidates should not write the answers beyond the limit of words prescribed in
part A, B and C failing which the marks can be deducted.
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In case candidate makes any identification mark i.e. Roll No./ Name/Telephone No./

Mobile No. or any other marking either outside or inside the answer book, it would be
treated as using unfair means.” The candidature of the candidate for the entire

examinations shall be rejected by the Commission, if he is found doing so.
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PART - A Marks - 40

W - 3T 3 - 40
Note : Attempt all the fwenty questions. Each question carries 2 marks Answer should
not exceed 15 words.

A wzomﬁ%wé}ﬁﬁl uﬁmwtzwﬁa’iﬁﬁ%‘l w15ma‘r@raqfw:|€f
B = | '

Write on the following :

Fefofoa = fafae .
1.  Cardinal approach of utﬂ,

mﬁrﬁmmwmﬂﬁm ARSa

2. Production Possibility curve. .,

I WA T

3. Consumer’s surplus.

IR i F=d |

4.  Equi-marginal utility.

Fr-HAR ST |




Phillip’s curve.
fipferg = 1

6. Twin deficit.
et = |
7. Cross elasticity of demand.
T S @)
%
L
8.  Substitution effect.
FCTETo QT |
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9.  Law of variable proportions.

ierdeiie Ul i 9|

10. Short period market. S o

SIS ST |

11. Normal profit.
W 4 |

12. CQOligopoly.
HANMYER |
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13. Price Discrimination.

T fass

14. Net national product. = - s

forgs T s

15. Involuntary unemployment.

=3 SR |

16. Say’s law of market.
‘W' B WS T
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17.  Cost-push inflation

AU T )

18.  Mixed economy. _

fafsa srefemacen)

19. Stagflation.
@R 'R

20. Selective credit conirols.

TRHS 9Rg AT |
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PART - B Marks - 60
qT - 3 - 60
Note : Attempt . all the fwelve questions. Each questlon carries 5 marks. Answer should

.not exceed 50 words.

_"@HT?M%@H

21. What are the central problems of an econormc system ¥ B

@Wﬁmwﬁﬁﬁhwﬁw%? . T

muuﬁ%mﬁi‘mﬁ W_w%swﬁafﬁa%n IO 50 =g ¥ 3R A

22. Why demand curve slopes downward to the right ? |
=it ash < W A Y SR =l g §2
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23. Describe the factors upon which elasticity of demand depends.
T <h1 e e O ST Al o6 i i

24. How is the price deféifit_\i_néd under monopoly ?

wm%mw“ﬁmfﬁam%?




25, Explain any two methods for measuring national income.
TN T Y W3 fweal < Gl =) sareAn Hifs |

26. Explain Keynsian consumption function. L.

HIHI SHTT-hEA HI AR BT
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27.

What is the difference between Fisher's equation and Cambrxdge equation ?

Waw%@aﬂﬂwﬁww%?

28.

Distinguish between grdi&t_h_an'd development.

Uyl iR fapm o Waﬂﬁﬂl
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29. What are the causes of the increase in government expenditure ?

R & o o o, I RO E?

30. What are the main features of an under developéd'_fnﬁnéy market ?

etk ge1 IR ot e fordeand s €2
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31.  Examine the role of technology in production function.

SR HeR o Tk & IR 1 THeey |

32. Examine the impact of. éé:o_homic reforms on Indian economty.
R srefearereell W SHfies Gu & wea =) GoeEy
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Note :

33.

PART - C : Marlks - 100
T -| _ afar - 100

Attempt any five questions. Each question carries 20 marks. Answer should not
exceed 200.words.

ﬁwﬁéﬁwaﬁﬁm Ww%zawﬁa‘fﬁﬁ%! I 200 T} § a7feres TR
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Explam the properues of an 1nd1fference curve
satisfaction with the help pf md1ffere
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v.does a consumer maximise
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34. Tllustrate different stages of laws of returns.

ety i =) Tt sl = fae g ansmul
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35. [Explain price determination under monopolistic competition both in short period and
long period.
TeHITeRT GRSt sreverelin STeR qe el e § ed fHui Ft e
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36. Explain the marginal productivity theory of distribution. What are its limitations ?

fereron st Hierieer Sl g 1 aren AL T fagr At i == €2
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37.

Explain the causes and consequences of inflation.

TR TR < TR0 q GRS e w1

T
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38.

What are the essential components of human resource development ?

AR W1 fohr < e T 7 €2
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39. Discuss the role of state in a market oriented economy.
FeR fAfrea srefenaeen % U9 ot YfHe! H1 9o Sifsw)
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